S\D)V\"}‘}Oqg i\fv.f

2. Giventhe system: ) 2x—y =1
W) 2X —y =2

a. Write each line in slope-intercept form.

D ~3=1x-i

) W= +2

b. By comparing the slopes and y-intercepts,
determine whether these lines are parallel,
coinciding, or if they intersect at one point.

/

'pm!lé/-—-* Seane f/upa ‘

c. Graph each line on the same coordinate system.

"

d. Isthere a solution to this system? J\ID

iA Lunf?\f'/"/\‘}'

e. Is this system consistent or inconsistent?
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Section 4.2 Solving Systems of Equations by the Substitution
Method

CLASSROOM ACTIVITY 4.2A

I. a. Solve the system by the substitution method: y =x -+ 6

3x+2y=2
W v +2 (x+6)=2
Ax¥+2x+2= 2
Sx = ~/0
b. Check your answer in both original equations.

H=~2t6 V7~

S-yr2(y) = 2
—GtF 22 v

2. Given the system: 3x—-2y=-10
x+4y =6

a. Of the four variable terms, which variable is the easiest to isolate?

X

b. Solve the system using the substitution method.
X= 6- ‘{J

3(6-19) - 2y=1
(e 124y =~yo 2 - 19y=~2¥
¢. Check your answer in both equations. [‘1‘ - iF

~1%

P =

3(-2)-2(2)="1t0 -2 +Y(2)= 6
- Y==lo v -2+ ¥=6
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CLASSROOM ACTIVITY 4.2C

Radd w b q2%
1. Two angles are complementary. One angle is 8° more than the other. What are the

measures of the two angles?
a
W 4 ‘Tﬂ ?O § >
X= yr§°

b. Solve the system of equations by using the subsiiiuiion method.

c. Interpret your answer,
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